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So in what do they differ - 37755292 X7 NON

OVERVIEW

After the X3 establishes that X217 7°% n°X 7127 and 720 agrees that there is
also the ovv of 0P, the X711 then asks; what is the difference between 7727
and X1 (in the case of *"Xa 11717 717n). They will both agree that 1"932 is
(generally') not required *"X2. Seemingly this same question arises as soon
as the X7 said (previously) that 1"92 is not required °"X2 12°74% 7179 even
according to X211, since oW noWOn 2237 22w, Our Moo will explain why
the question is valid only after we maintain that X277 7% n°X 7127 and not
previously”.
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Previously when the X713 answered the question, why X297 does not require
>"R2 7177 7307n 1"92; to which the X7n) replied, ‘since there are pilgrims

in *"X, therefore witnesses can be easily found’. That is why 1"52 is not required
in >"X. It follows therefore that both ;127 and X217 agree that >"R2 72>71% 7377 there is no
requirement to say 1"92.

moon states (negatively) the anticipated question:
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The X713 could not have asked the same question the X713 is asking now,

namely what is the practical difference between the opinions of X371 727; since
they both agree that 1"92 is not required >"R2 71717 AT,

mooIn responds; that at that point there is no valid question:
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For there is as yet a difference between >"X2 171°7% 72°7m% X271 7127; in such

! Except in cases mentioned at the end of moon where they will both agree that it is required.
* See: X9X 71"7 "1 who maintains clearly that the question actually refers to both this conclusion of n°X 7127
X277 7% and the previous answer of oW mow n D237 *PW X3°R7 1173, Our MooIn will seemingly disagree
with *"w1. See however '0 MX 717 N2 in the first parenthesis.
? The original difference between 727 and X271 in the case of *"Xa 71°7n% 73 7an was that according to 727
1"91 is required and according to X217 it is not required. As soon as the X773 said that even according to ,727
1"91 is not required in "X, that difference was eliminated. This question does not seemingly become any
stronger when the X3 also concludes that X317 °2 n°R 727, Therefore the question is why did the X3 wait
till it concluded that X377 7°% n°X 727, and not ask this question immediately when we answered that 11°3
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places where there are no established 3°137 °n2 or they are hostile to each

other; in these two aforementioned cases (before we concluded that X277 7°% n°X 7127)
there would be a difference between X271 7727 in >"X. According to 727 there is no need for
1"91 since they are nw? PX°P2 (and at this point ;7727 does not yet agree to 827). According
to X217 however, 1"52 would be required; since there are no 2°1°7 °n2 in this vicinity or they
are extremely hostile to each other there are no M»p% PM¥n o7y, It is only when we
establish that X277 7°% n°R 7127; then even in these (two) instances 7127 and X217 would both
agree that 1"92 is required. Therefore the X713 rightfully asks at this point: 17>1°2 *Xn!

SUMMARY

The question: ‘What is the practical difference between X271 727 in ¥"X’, is
valid only after we establish that %377 7°2 n°X 1727. For then they will both
agree that if there are %P2 1"Mxn 0°7¥ then 1"92 will not be required °"X3;
otherwise it will be required. However before we established that 7°% n°X 727
X277, even though we have concluded that in *"X since there are 2°237 °9W (or
7’17 °n2) therefore 27V are P2 1xn, nevertheless there will still be a
difference between &271 7127; specifically in the cases where there are no °n2
*¥°2p 1197 or where the two cities are 77 2¥ 731 P71°9pnR.

THINKING IT OVER
How is m»poin convinced that in the cases of 1"v1 P79pn and °na >y"ap X
171°7," one would be required to say 1"92 in *"& according to X27?

* See w"v.
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